C:# Divisione di un numero intero

Nome:
Risolvi ogni problema. Risposte
1) 462 = 2) 833:6=
- 1.
2,
3
3 181:4= 4) 643:9= 4.
5.
6.
7.
5 19:6= 6) 32:3=
8.
9.
10.
7) 784:5= 8 82:2=
- - 11.
12.
9 740:5= 10) 48:2 =
11) 3855= 12) 64:2=
. 1-10 | 9283 75|67 [58[50] 4233|2517 |
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Divisione di un numero intero Nome: Soluzioni
Risolvi ogni problema. Risposte
1) 46:2= 23 2) 833:6= 13815
— 1 23
2 138r5
3, 45r1
3 181:4= 45711 4 643.9= 71r4 4 /1r4
5. 3rl
6. 10r2
7. 156 r4
5 19.6= 3rl 6) 32.3= 10r2
8 41
9, 148
10. 24
7 5 = 8) g2:2=
) 784:5 156 r4 ) 82:2 41 " 7¢3
12. 32
9 740:5= 148 10) 48:2= 24
11) 385= 713 12) 64:2= 32
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